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EHRABH FERAKE KEHE
15B LT 4m UTF 1,980H x 1/4 = 495H

5m UL ~ 8mUuUTF 1,980H x 1/2 = 990H

om Lt 1,980H x 1/2 + ®EHE = 990M + RKEHE
168U L 8m UTF 1,980H x 1/2 = 990H
30BLLF om Lt 1,980H x 1/2 + ®EHE = 990 + R=EHE
JIHUE 12m LT 1,980H x 3/4 = 1,485H
4bHLTF 13m LIk ~ 16m LT 1,980H = 1,980H

17m LIk 1,980H + ®=EHRE = 1,980 + ®K=HE
468 E 16m LIF 1,980H = 1,980H

17m LIk 1,980H + ®=EHE = 1,980 + ®H=H£

OFF20mmNBZE

ERAB# ERKE KEHE
158 LLF 4m UT 3,300 x 1/4 = 825H

5muUt ~ 8mUTF 3,300m x 1/2 = 1,650

om UL 3,300 x 1/2 + #HEHE = 1,660M + REHE
168 L 8m LT 3,300 x 1/2 = 1,650
30HLLT om KL 3,300 x 1/2 + f#HEHE = 1,660M + REHE
31BLE 12m LT 3,300 x 3/4 = 2,475
ASHLT 18Bm LUE ~ 16m UTF 3,300 = 3,300

17m KL 3, 300M + ®KE#EHL = 3,300 + K=HE
468 L E 16m LT 3, 300 = 3,300

17m KLt 3, 300M + ®KE#EHL = 3,300 + K=HE

HEHE (FRKEImMIZDOE)

<0HUTDIHE>
26m~50m
ERXHEIZET 165M 176H 187H
<3BULDBE>

51m ~100m

EXHEIZED 165 176 187H
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